[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

1.0

Ratio

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TT_base_noSel

Effici —e— DQM_CKF_TT_retrainOldFiles113_noSel
ICIeNd __,__ DQM_CKF_TT_retrainOldFiles125_noSel

N 0.1: - :
0.00F +++-cferefredeerenes i o
[ E : : : . .
>008__ """ E'---- --. ........ E'""""E ________ .- -------
> E : . N . .
2 E : : : : :
§O.07E oo
5} F :
£ 0.06------
5] E : :

0.0 ++++cbeee o

O

S R I R

0.02F ---beeefith o

0.02F oo {-ie-
o wpbe
g
m -

1__ """""""" L. LWL

0.95L : : : : :

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

..................................

.................................

.......................

1.0

Ratio

e
T
e
T

10 15 20
Sim. PV z (cm)

o
U-| -
o
[(6)]



	Contents
	Page 1


